OTnyckHas

Ne i/ O6o3HaueHne HaumeHoBanue Kon-Bo, - | mena ¢ yserom
LIT. kod.roz.,
0eJ1.py0.
1 [151.57.133 OunbTp TPyOoOH OUUCTKH 12 0,95
2 |151.57.134 DUIBTP TOHKOW OUNUCTKH 10 0,08
3 [2503-01020-00007 [Mamxera 2.2-75X100-1 " _8752/0CT38 05146 6 1,24
4 [2502-01020-00111 |HIMHA 5.50-16.®BEJI256 3 43,93
5 [2502-02020-00006 |ITokpsimka 16.0-20 ®-64GL-1 HC12 TY 1476213 5 315,15
6 [2502-02020-00013 |TTokpsimika 5.50-16 ®BEJI-256 HC 8 TY 147621 28 35,99
7 12502-02020-00015  [TToxpsimka 21,3-24 SIB-79 HC10 TY38.104155 2 406,61
8 [2503-01020-00017 [Mamxera 38X28 105.072.12.023 46 0,17
9 [2503-01020-00081 |Mamxkera 70X90 L=43 1 10,96
10 |2503-01020-00152 [Mamxera T20 45X55X10/11 1 7,93
11 |2503-01020-00230 [Mamxera 50X40 105.072.12.023-01 50 0,23
12 |2503-01020-00353 [Mamxera 75111-10031A 2 0,64
13 |2503-01030-00004 [Mamxera 1.2-120X150-1 T _8752/OCT 3805146 3 1,00
14 2503-01030-00007 [Mamxera 1.2-52X75-1 T 8752/OCT 38 05146 4 0,73
15 |2503-01030-00008 [Mamxera 1.2-60X85-1T 8752/0OCT38 05146 113 0,69
16 |2503-01030-00009 [Mamxera 1.2-75X100-1 T" 8752/OCT 38 05146 4 1,42
17 ]2503-01030-00054 |Mamxera 1.2-110X135-1 I'8752/OCT 38 05146 8 1,81
18 [2503-01030-00060 [Mamxera 1.2-40X60-1T 8752/OCT 38 05146 80 0,41
19 2503-01030-00078 [Mamxera 2.2-80X105-1 " 8752/OCT 38 05146 530 0,67
20 [2503-01030-00384 |Mamxera 2.2-30X52-1 T 8752/OCT 38 05146 4 0,34
21 [2505-04010-00002 |PBJ 12-2SN-M20X1,5-60°-710 10 4,09
22 [2505-04010-00005 |PBJ 16-2SN-M27X1,5-60°-2000 39 13,59
23 [2505-04010-00019 [PBI 6-1SN-M16X1,5-60°-650 10 3,43
24 [2505-04010-00021 [PBJ 6-1SN-M16X1,5-60°-800 40 4,03
25 [2505-04010-00022 |PBM 6-1SN-M16X1,5-60°-850-0°-90° 1 4,90
26 [2505-04010-00295 [PBJI 10041.00.00.000 10 36,99
27 [2505-04010-00296 |PBJ 10041.00.00.000-01 10 39,56
28 [2505-04010-00335 [PBJI 12-2SN-M20X1,5-60°-4200-0°-90° 1 8,25
29 [2505-04010-00342 |PBJ 12-2SN-M20X1,5-60°-6000 18 11,25
30 |2505-04010-00355 [PBJ 16-2SN-M27X1,5-60°-1000-0°-90° 2 12,13
31 ]2505-04010-00356 [PBJ 16-2SN-M27X1,5-60°-1200-0°-90° 5 11,64
32 |2505-04010-00365 [PBJI 16-2SN-M27X1,5-60°-2900-0°-90° 2 20,32
33 ]2505-04010-00366 [PBJ 16-2SN-M27X1,5-60°-3300 10 19,82
34 12505-04010-00367 [PBJI 16-2SN-M27X1,5-60°-560-0°-45° 88 8,98
35 2505-04010-00378 [PBJ 20-1SN-M30X2-24°-2100 28 25,03
36 |2505-04010-00381 [PBJI 20-1SN-M30X2-24°-4000 8 28,46
37 2505-04010-00385 [PBJ 20-2SN-M30X2-24°-2200-90°-90°/270° 10 30,09
38 |2505-04010-00395 [PBJI 20-4SP-M36X2-24°-1050 160 24,68
39 2505-04010-00398 [PBJI 20-4SP-M36X2-24°-3300 12 36,50
40 [2505-04010-00399 [PBJI 25-4SH-SAEFE;j-2200-90-90 6 75,61
41 [2505-04010-00401 |PBJH 25-4SH-SAE;j-M42X2-24-4700-90-90/90 2 31,64
42 [2505-04010-00408 [PBJI 25-4SH-M42X2-24°-5500-90°-90°/90° 6 141,77
43 [2505-04010-00409 |PBJ 25-4SH-M42X2-24°-700 10 39,94
44 [2505-04010-00410 [PBJI 25-4SH-M42X2-24°-950-0°-90° 34 39,47
45 [2505-04010-00415 |PBJH 25-4SP-M42X2-24°-3450-0°-90° 2 88,94
46 [2505-04010-00423 [PBJI 6-1SN-M14X1,5-24°-800 10 4,01
47 (2505-04010-00429 [PBH 6-1SN-M16X1,5-60°-1100-0°-90° 1 6,21
48 [2505-04010-00436 [PBJ 6-1SN-M16X1,5-60°-1400-0°-90° 2 6,33
49 [2505-04010-00455 |PBM 6-1SN-M16X1,5-60°-3000 34 6,95
50 ]2505-04010-00466 [PBJI 6-1SN-M16X1,5-60°-3600-0°-90° 30 20,88




51 [2505-04010-00469 |PBJ 6-1SN-M16X1,5-60°-410 45 2,99
52 12505-04010-00491 [PBJ] 8-1SN-M16X1,5-60°-1450 7 4,40
53 [2505-04010-00495 |PBJ] 8-1SN-M16X1,5-60°-1800-0°-90° 39 5,56
54 12505-04010-00501 |[PBJ] 8-1SN-M16X1,5-60°-500 2 2,03
55 [2505-04010-00522 |PBJ] 8-2SN-M16X1,5-60°-2100 21 9,41
56 12505-04010-00524 |[PBJ] 8-2SN-M16X1,5-60°-2200 1 8,87
57 [2505-04010-00539 |PBJI 8-2SN-M16X1,5-60°-560 4 3,23
58 12505-04010-00546 |PBJI 8-2SN-M16X1,5-60°-700-0°-90° 16 5,25
59 [2505-04010-00548 |PBJI 8-2SN-M16X1,5-60°-800-0°-90° 47 5,53
60 12505-04010-00623 [PBJ 6-1SN-M16X1,5-60°-1300 15 7,14
61 [2505-04010-00630 |PBJ 6-1SN-M16X1,5-60°-650-90°-90° 12 5,63
62 [2505-04010-00677 |PBJ] 25-4SH-SAEj-M42X2-24-1300-60-0 124 56,82
63 [2505-04010-00709 |PBJ 16-2SN-M27X1,5-60°-1300-0°-90° 49 14,40
64 12505-04010-00711 [PBJ 16-2SN-M27X1,5-60°-2450-0°-90° 10 17,79
65 [2505-04010-00725 |PBJ] 6-1SN-M16X1,5-60°-530 17 6,89
66 12505-04010-00752 |PBJ 16-2SN-M27X1,5 180 3,77
67 [2505-04010-00782 |PBJI I1-8 apmupoBanusiii H 036.87.01.070 6 4,31
68 12505-04010-00792 [PBJ 12-2SN-M20X1,5-60°-7000 54 30,56
69 [2505-04010-00800 |PBJ 16-2SN-M27X1,5-60°-1150 6 15,06
70 12505-04010-00893 |PBJ] 8-2SN-M16X1,5-60°-1900-0°-90° 2 8,66
71 [2505-04010-01172 |PBJ] 8-2SN-M16X1,5-60°-1360-90°-90° 1 9,88
72 {2506-03000-00066 |PEMEHb C(B)-2650 ITICX I" 1284.1 13 11,62
73 [2506-03000-00069 |PEMEHDB Yb-1800 TY 38.105 1998 34 6,86
74 12506-03000-00070 (PEMEHD YB-2240 TV 38.105 1998 6 10,63
75 [2506-03000-00071 |PEMEHDB YB-3750 TV 38.105 1998 2 9,75
76 12506-03000-00072 (PEMEHD YB-2800 TVY 38.105 1998 1 8,48
77 (2506-03000-00081 |PEMEHD 8/YB-2240 TY00152135.066 25 148,83
78 [2506-03000-00084 |PEMEHDb C(B)-22401LI1 5 2,28
79 [2506-03000-00102 |PEMEHB HB 3088 40 7,07
80 ]2506-03000-00104 |Pemens 4 HB BP 2362 28 37,16
81 [2506-03000-00105 [(PEMEHB 6 HB BP 2362 82 53,10
82 12506-03000-00110 |Pemens B/17 1180 Li 1 0,92
83 2506-03000-00132 [(PEMEHDB 4 HB BP 4562 "K" 2 244,05
84 12506-03000-00150 |Pemens 2 HB 2662 La 24 35,54
85 12506-03000-00348 |Pemens z 47/13X1250 Li28° (1312 Lw) 3 50,61
86 12506-03000-00371 |PEMEHD 8/YB-2240 TV 38.105.1998 3 180,52
87 12506-03000-00420 [Pemens SPB 1250 Lw 1 2,65
88 12506-03000-00423 |Pemens 2 HB BP 4062 "K" 1 82,66
89 2506-03000-00730 |[PEMEHDB 4 HA BP 2240 LI 2 50,17
90 |2506-03000-00854 |[Pemens C 5000 Lw 21 10,54
91 12506-03000-00857 [Pemens SPA (11-10)-1400 Lw 10 1,27
92 12506-03000-00974 |Pemenn A-1000 1 0,66
93 [2506-04000-00001 |PEMEHD 2 KJI. [I-11X10-1045T" 5813 96 4,27
94 (2506-04000-00002 |PEMEHD 2 KJI. I-14X13-1280 I" 5813 92 5,27
95 [2506-04000-00017 |PEMEHD 2 KJI. I-11X10-1180T" 5813 2 1,09
96 |2506-04000-00049 |IIpuBox BenTmiasiTopa 70.3730 TY 37.003.657 2 8,62
97 [2506-04000-00053 |PEMEHbD I-14X13-1280 " 5813 64 5,27
98 12506-90000-00212 (PEMEHb COU217 8 131,29
99 [2506-90000-00218 |PEMEHbDb 8V-1700 58 83,33
100 12506-90000-00379 |PEMEHbD V JIKB-08003 TV 38 60541 L=3170 8 93,26
101 [2506-90000-00452 |Pemens B/17 3048 LI 2 8,49
102 1250Y.08.010-1 CEKLIVSI PAIUATOPA 16 65,45
103 (3810-03000-00003 |3/mBurarens 490.3730 TY07608839.005 1 17,61
104 |3810-06000-00016 |3/mexanuzm MK-150-2 6 174,90
105 (4101-01010-00023 |Hacoc HII10Y-3JITCTY 3-25-180 1 19,06
106 (4101-01010-00138 |Hacoc HIII10Y-3 (UNIVERSAL) I'CTVY 3-25-180 3 17,87




107 |4101-01010-00140 |Hacoc HIII 10E-JIT 8753 1 13,11
108 |4101-01040-00010 [HACOC NP90.5SMHR/D2ACB Y1 TV 5786106.010 17 357,56
109 |4101-02080-00072 |I'/motop MS 160 C P (black) 1 290,33
110 |4101-02080-00085 (I/MOTOP MT 500 C 5 602,98
111 |4101-02900-00030 |MOTOP MP90.2/]12A35Y 8 245,18
112 14101-02900-00036 [I/MOTOP CPMT 500 C 5 412,70
113 ]4101-02900-00069 |I'/motop MAR 50-C-D-B 2 121,08
114 14101-02900-00081 [I'/moTop MS 315 CM 30 669,44
115 14101-02900-00114 |I'/motop CPMM S 20 C 7021 3 88,65
116 |4101-03000-00039  [I/mpmuaap HM1 63/32/320 111111 1 176,09
117 14101-03000-00068 |I'/mmmmaap BHC 80.50.250TY690032776.001 6 146,92
118 [4101-04020-00061 |I'mapozamox KOHU 6M 1 72,52
119 ]4101-08000-00008 |®unstp MFP 180 AUE 10 A 0.0/-KB 5 81,48
120 [4101-08000-00075 |®unbtp ®C-02 8 20,55
121 |4101-80010-00068 |Hacoc-no3arop DOC125AE 3 136,11
122 14101-80020-00047 [I/BJIOK P-800/1K-01 3 202,13
123 14101-80020-00048 |I'/BJIOK P-800/3K-02 4 665,72
124 14101-80020-00049 [I/BJIOK P-800/5K-01 2 1048,78
125 14101-80020-00067 |I'/610k ynp.K3K 0602010 TY400051624.082 3 366,00
126 |4101-80020-00086 [I'/BJIOK GB3-01-P800-24V-4K-IT8 1 549,78
127 14101-80020-00224 |I'/610x GB2-04-KZK10-24V-5K-BY11 1 510,44
128 14101-80020-00254 [I'/6;mox BCK40MA2-6/1,25-1'24-2 TY2-053-068 6 533,83
129 14101-80020-00353 |I'/610x GB2-01-P800-24V-1K-BY 11 2 208,00
130 [4101-80040-00045 |Kommiekt kosnern k r/6moky K3K 0602010A-8 2 8,03
131 [4104-01000-00026 |®UJIBTP TOIUIMBHBIN 23523907 (23531904) 1 12,72
132 [4104-04900-00007 |9JIEMEHT ®UJIbTP."PETOTMAC 636-1-19" 9 0,82
133 14104-04900-00065 |®UJIbTPOSJIEMEHT CRA110FV1 11 18,08
134 [4107-17000-00019 |ITPOKJIAJAKA 27 M3 T" 23358 10 1,18
135 14107-17000-00038 |ITPOKJIAAKA G1/2 M3 T" 23358 100 0,60
136 [4107-17000-00060 |[I[TPOKJIAJIKA 24 AZI0 I" 23358 2 0,16
137 [4111-02000-00209 |DuneTp ounctku Tormsa 240-1105010 25 17,51
138 [4117-06030-00002 |PEMEHD V JIKB-08003 TV 38 60541 L=3605 8 99,99
139 14117-06030-00038 |Pemenn SPA (11-10)-1032 Lw 21 1,53
140 [4117-06030-00047 |Pemens B 1790 Lw 9 2,86
141 14601-00000-00048 |IIOALOMITHUK 11212 T 28428 35 11,55
142 [4601-00000-00263 |IIOAILIMITHUK 11216 " 28428 42 35,16
143 14601-00000-00265 |IIOALOUITHUK 11313 T" 28428 10 34,73
144 [4601-00000-00270 |I[TOAILIMITHUK 1204 " 28428 4 1,62
145 14601-00000-00274 |IIOALIUITHUK 1309 I" 28428 23 6,72
146 [4601-00000-00285 |ITOAIIMITHUK 160204 I" 8882 5 0,76
147 14601-00000-00291 |Ilommmmuuk 1606 I 28428 11 0,89
148 [4601-00000-00292 |I[TOAILIMITHUK 1607 I" 28428 8 2,50
149 14601-00000-00302 (IIOAIIMITHUK 180109 I" 8882 2 2,31
150 [4601-00000-00320 |ITOAIIMITHMK 180307 I" 8882 6 2,34
151 14601-00000-00328 [ITommmmuuk 180508 I" 8882 27 2,78
152 [4601-00000-00332 |I[TOAILIMITHUK 205 " 8338 4 1,22
153 14601-00000-00358 [ITOAILIMITHUK 3056207A " 4252 7 3,21
154 [4601-00000-00362 |I[TOAILIMITHMUK 308 I" 8338 2 4,36
155 14601-00000-00366 (IIOAIIMITHUK 3208 ATN9 19 27,75
156 [4601-00000-00373 |I[TOAILIMITHUK 4207ATNO9 18 19,31
157 14601-00000-00405 [ITOAILIMITHUK 60311 I" 7242 3 6,03
158 [4601-00000-00422 |I[TOALLIMITHUK 6312 1 22,55
159 14601-00000-00432 [IIOAILIMITHUK 80212 I" 7242 13 5,57
160 [4601-00000-00460 [I[TOAILIMITHUK 111210 1 0,64
161 14601-00000-00466 [ITommmmuuk 180208 I" 8882 1 2,27
162 [4601-00000-00467 |ITOAILIMITHUK 1580207 7 5,79




163 14601-00000-00528 |IIOALIUITHUK 2203E-2RS1TN9 24 15,49
164 14601-00000-00766 [TTIOAIIMITHUK 221E-2RSIK 69 33,96
165 14601-00000-00783 |ITOALIUITHUK 1580206K7C17 37 1,07
166 |4601-00000-00800 (ITommmmuuk 180205 K1C9 necran. 17 0,73
167 14601-00000-01134 |TToammmauk 80209 5 2,90
168 14601-00000-01410 [ITommmmuuk 413 T' 8338 2 27,50
169 |4601-00000-01487 |Toxmumank 81104083 IIAPMKOBBIN JIBYXPSIHbII 5 73,85
170 14601-00000-01509  [[Tommmumuuk 180311 I 8882 2 8,63
171 14601-00000-02192 |Hommmmnuuk 50408 I' 2893 2 15,87
172 14602-00000-00003  [TIOAIIMITHUK 42205KM I' 8328 12 3,71
173 14602-00000-00004 |[TIOALIMUITHUK 42307KM I" 8328 1 5,92
174 14602-00000-00005 [IToammmauk 7516 TY 37.006.162 24 9,07
175 14602-00000-00008 |IIOALIUITHUK 7610A T" 27365 32 10,58
176 14602-00000-00013  [TIOAIIMITHUK 42207KM I" 8328 13 4,22
177 14602-00000-00156 |ITOALIMUITHUK 2007109 TY37.006.162 24 3,29
178 14602-00000-00243 (TTIOAILIMITHUK 553508 I" 5721 2 35,65
179 14602-00000-00283 |ITIOALIMUITHUK 941/15T 4060 50 0,41
180 |4602-00000-00294 [TTOALLIMUITHUK 7509A TY37.006.162 4 0,15
181 14602-00000-00300 |ITOALIMITHUK 6-7515 12 8,02
182 14602-00000-00304 [TTOALLMITHUMK 2007118A TY37.006.162 9 10,04
183 14602-00000-00312  |Iloxmmmuuk 804707 40 3,71
184 14602-00000-00328 [[Tommmumuuk 8104 I 6874 3 0,91
185 [4602-00000-01173  [[logmmmuauk 7511A T" 27365 90 4,20
186 |4604-00000-00002 [TTOAILIMUITHUK 904700V C17 TV 37.006.065 40 0,83
187 14604-00000-00011  |IToxmmmank NK25/20 8 10,67
188 14604-00000-00012  [TIOAIIMITHWK NKI140/30 13 27,88
189 14604-00000-00034 |IIOALOUITHUK 81104577 2 47,31
190 |4609-00000-00017 [TTOAILIWUITHUK 1-IIC20 " 3635 1 1,01
191 ]4609-00000-00030 |Ilommmmuuk HICII25 T 3635 2 1,36
192 14609-00000-00044  [TTomgmumauk HICIT20 I'_3635 8 1,37
193 14610-00000-00073  [Ilopmmmuuk 1726208-2RS 1 12,91
194 14630-05000-00001 [POJIMK 6,035X90 I T" 22696 8 0,02
195 14690-00000-00018 [TIOAILLIMITHMK 306 I" 8338 17 1,69
196 14690-00000-00286 [I[Tommmumauk 180206K10C17 I 8882 4 1,02
197 |KBC-1-0107030 Omnopa 2 133,10
198 |KBC-1-0107602 Cuérunk 33 59,95
199 |KBC-1-0108000 KOJIECO 1 1918,80
200 |KBC-1-0108010 Ob6on 29 415,25
201 |KBC-1-0108510 Oobon 2 592,08
202 |KBC-1-0111000-01 |Anmapat nmuTaromui 1 27238,40
203 (KBC-1-0111100 Bansirer BepxHue 2 3582,70
204 |KBC-1-0111101 HlxuB 1 170,40
205 |KBC-1-0111450 Brynka 1 48,79
206 |KBC-1-0114111 Kopmyc 12 481,25
207 |KBC-1-0114201 Kopmyc 10 39,66
208 |KBC-1-0114612 Ban 2 60,50
209 |KBC-1-0114618 Ban-mecrepus 24 86,90
210 |KBC-1-0114622 Hlectepus 9 73,15
211 |KBC-1-0114626 Ban 5 42,98
212 |KBC-1-0114653 Hlectepus 1 109,45
213 |KBC-1-0115170 Hox 16 26,42
214 |KBC-1-0115421 VYiko 18 0,21
215 |KBC-1-0115451 Omopa 2 26,04
216 |KBC-1-0115601 Ocb 2 64,35
217 [KBC-1-0115614 Peryar 1 33,06
218 |KBC-1-0115616 Ocbhb 1 9,15




219 [KBC-1-0116601-02 |3Bé3nouka 2 44,32
220 |KBC-1-0116806 Brynka 68 3,44
221 [KBC-1-0118101 [xuB 1 138,05
222 |KBC-1-0121004 HednexTop 3 0,73
223 |KBC-1-0129042 ITomymxka 30 1,26
224 |KBC-1-0129455 Ppruar 6 6,14
225 |KBC-1-0129498 Omnopa 10 7,58
226 |KBC-1-0129498-01 [Omopa 10 7,58
227 |KBC-1-0129499 Omnopa 10 8,43
228 |KBC-1-0129499-01 [Omopa 10 8,51
229 |KBC-1-0129570 Ppruar 1 17,18
230 |KBC-1-0129580 Ppruar 1 12,55
231 [KBC-1-0130100 Ppruar 1 210,60
232 |KBC-1-0130105 IxuB 7 157,30
233 |KBC-1-0141004A-01|YmioTHeHUE 2 12,97
234 (KBC-1-0141005b YnoTHeHne 2 5,77
235 [KBC-1-0141510 IIpocraBka 1 185,90
236 |KBC-1-0142120-01 |Ymop 6 3,97
237 |KBC-1-0142442 IInactuna 10 1,69
238 [KBC-1-0147448 Haxnanka 6 0,92
239 (KBC-1-0148002 IIpoknagka 2 0,43
240 |KBC-1-0148003 Brynka 2 5,05
241 [KBC-1-0148614 [Ipyxuna 16 24,04
242 |KBC-1-0150010 Omopa neBas 2 260,15
243 |KBC-1-0601010 Bbax MacnsHHBIN 1 543,95
244 |KBC-1-0602060 OuIbTp CAUBHOM 5 237,25
245 (KBC-1-0602140 IHonymydra BHyTpeHHSSA 4 19,51
246 |KBC-1-0602540 b0k MHEBMOTHAPOAKKYMYIISTOPOB 2 1718,40
247 [KBC-1-0602606-01 |IlTtyuep 19 3,77
248 |KBC-1-0700960 ITpoBox "maccer" 6 7,93
249 (KBC-1-0701380 ONEeKTpOMarHuT 2 28,27
250 |KBC-1-0701430-01 |31exTponpuBOA HA OMIOpPE 1 331,65
251 |KBC-1-3902100-01 [Mydra npegoxpaHuTenbHast 5 498,60
252 |KBC-1-3906000 Kontpnpuson 9 105,05
253 [KI'C0108001 PykaB BcaceiBaromuit 2 23,39
254 |KI'C0108002 Pykas 1 15,92
255 [KI'C0108002-01 Pykas 2 17,97
256 |KI'"C0108020 I'mapomotop 5 1618,65
257 [KI'C0115001 PykaB BcacwiBarommit 4 86,90
258 |KI'C0115003 Pykas 5 16,12
259 [KI'C0115003-01 Pykas 4 46,97
260 |KI'C0115003-02 Pykas 4 34,27
261 [KI'C0116003 Pykas 1 4,00
262 |KI'C0116004 Pykas 4 2,84
263 |KI'C0116005 Pykas 2 3,65
264 |KI'C0116006 Pykas 1 7,87
265 |KI'C0125002 Pykas 1 2,73
266 |KI'C0125004 Pykas 1 6,77
267 |KI'C0125005-01 Pykas 1 8,88
268 |KI'C0125005-02 Pykas 1 12,09
269 |KI'C0125012 Pykas 1 39,05
270 |K3K0114000 Koneco 5 2571,25
271 |K3K0114000-01 Koneco 3 2571,25
272 |K3K0118000 Koneco 2 1388,80
273 |K3K0601050 QuIbTp 1 119,90
274 |K3K0601220 T'unpomoTop 2 1639,00




275 [K3K-10-0104406 IIpoknanka 6anaHCUpOBOYHAS 3 0,97
276 [K3K-10-0104406-01 |[Ipoknaaka OagaHCUPOBOYHAS 4 1,02
277 |K3K-10-0104406-02 (IIpoknaaka GamaHcHpOBOYHAS 12 1,10
278 |K3K-10-0106040A |Pagmarop 1 7161,55
279 |K3K-10-0109400 Kouneco 1 1471,40
280 |K3K-10-0109400-01 |Koneco 5 1156,10
281 |K3K-12-0109100-01 [Koneco 1 2016,00
282 |K3K-12-0110000 Kouneco 1 4054,40
283 |K3K-12-0601040 Ounbtp 1 226,05
284 |K3K-8-0601050 Ounbtp 10 249,00
285 [K3K-812-0601200 |I'mppomoTop 8 1771,20
286 |K3P4M.00.101 Kopmyc 105 145,60
287 [KMC0100404A-06 |ITpoknanxa 12 0,58
288 |KMC0100404A-07 [IIpoknanka 10 0,53
289 [KMC0100404A-08 |IIpoknanxa 4 0,64
290 |KHNC0602102b MNOAIUNITHUK 2 6,30
291 |KJI0013405 3Be3mouKa 10 52,80
292 |KJI0100380 biok ponukoB 16 373,80
293 (KJI0100430 Kponmreitn gennrens 2 80,85
294 |KJI0100430-01 Kponmreita nemurerst 2 80,85
295 [KJI0100440 Kponmreitn nenurens cpexHui 2 77,00
296 |KJI0100647 [pytok 2 8,53
297 |KJI0102424 Hlurox 2 27,28
298 |KJI0102463 Hlurox 30 52,75
299 |KJ10102607 3Be3mouKa 2 40,98
300 |KJI0103010 bapaban ouechIBaromniA 1 14025,55
301 |KJI0103507 3y6 15 29,21
302 |KJI0104000A TpancnopTep 3aKUMHON 1 2152,15
303 |KJI0104002 Pemens Pemens V JIKB-08003L=(3170+40,-50) 21 85,49
304 |KJI0O104010A OcHoBaHue 2 200,20
305 (KJI0104609-01 Hampasnsromas 17 6,93
306 |KJIO105000A Tpancnoprep 3aKUMHON HIKHUAN 1 2085,00
307 |KJI0105002 Pemens Pemens V JIKB-08003L=(3605+40,-50) 24 91,66
308 |KJI0106020A I[MPUBO/I HACOCA 6 383,35
309 (KJI0106070 YcTaHoBKa paguaropa 2 1584,55
310 |KJI0106106 [MaTpy6ok 5 122,40
311 |KJI0106190 ITaTpy6ok 3 129,25
312 |KJI0106411 [Tnanka 12 1,72
313 |KJI0106411-01 [Inanka 12 1,32
314 |KJI0106609 BAIJI 4 46,48
315 |KJI0106614 Ban 6 67,65
316 |KJI0106801 BTVJIKA 4 5,15
317 |KJI0109600 Kouneco 2 1278,75
318 |KJI0109600-01 Koneco 2 1278,75
319 |KJI0109610 Obox 4 170,50
320 |KJI0114010 Pemens Tpancmoptepa 26 813,60
321 |KJI0114101 Ponux 5 100,65
322 |KJI0114101-01 Ponuk 2 100,65
323 |KJI0O117020A JIEHTA TPAHCIIOPTEPA 16 666,05
324 |KJI0117030 Ban 1 62,70
325 |KJI0119050 ITyneT ynpasineHust 1 2615,40
326 |KJI0200201A HlxuB 1 84,15
327 |KJI0602020 I'uapo0biok 1 353,40
328 |KJI0602080A I'MAPOMOTOP 3AXKMMHOI'O TPAHCITIOPTEPA 2 872,40
329 |KJ10602260 I'mpponacoc 2 157,20
330 [KJI0603000A bak macasHbIi 3 1167,65




331 [(KJIC0000040 Henurens 7 144,60
332 [KJIC0000050 Henurenn 14 153,00
333 [(KJIC0000170 Jemurens 7 144,60
334 [KJIC0000170-01 Henurennb 8 144,60
335 (KJIC0100080 Ponuk HaTsKHOM 4 134,20
336 [KJIC0100080-01 Ponuk HaTsHKHOM 2 134,20
337 (KJIC0100280 Croiika npaBas 1 50,22
338 |KJIC0100300-01 KPOHILTENH 1 166,65
339 [(KJIC0103080 IloBomok 2 176,55
340 |KJIC0105100-01 Koneco 1 82,50
341 [KJIC0106431 [Taii6a 6 4,29
342 |KIIK0800100 I'maponacoc cIBOEHHBIHM 4 601,80
343 [KIIK0800140 OubTp 1 212,40
344 |KIIK0801090-01 I'unpomoTop 8 806,40
345 (TIITIK0100620 YcTaHoBKa IpUBOJa TpaHCIIOpTEpa 5 139,20
346 |III1K0102310-01 JlenTa Tpancmoptepa 2 3261,00
347 (TIIIK0102400A [pxum 5 20,11
348 |TIIK0102400A-01 |[Tpmxum 5 20,11
349 (TITTK0102580-01 3Be3104Ka 27 37,91
350 |IITTK0103160 Ponuk 19 71,50
351 (IIIIK0103204 Pommk 3 36,26
352 |IIIIK0103560-01 Tpancnoprep 23 432,85
353 (TIIIK0103570-01 Tpancnoptep 29 555,50
354 |IIIIK0103580-01 Tpancnoprep 6 1194,00
355 [TIIK0106000A Penyxrop 22 448,20
356 |IIITIK0107000-01 Penyxrop 17 440,40
357 [TITIK0107603 Ban 8 90,60
358 |PH/10200012-147  |Pykam 1 30,54
359 [PH10200012-35 Pykas Pykas 20X29-1,6 TOCT 10362-76 L=(600+5) Mmm 2 9,33
360 [PHJ10200012-37 Pykas Pykas 20X29-1,6 TOCT 10362-76 L=(640%5) Mm 2 16,16
361 (PHJ10200012-45 PykaB Pykas 20X29-1,6 TOCT 10362-76 L=(8 2 4,73
362 |PHJ10200012-64 PykaB Pykas 20X29-1,6 I' 10362 L=(1180+10 1 8,19
363 (PHJ10200012-80 Pykas PykaB 20X29-1,6 TOCT 10362-76 L=(1500+10) Mmm 1 9,25
364 |PHJ10200012-85 Pykas 2 15,25
365 |PHJ0250022-70 Pykae PykaB BcacbiBatowmii 17 G-16 (SAE 100 R4) DN25 L=(13( 1 67,10
366 [PH/10320021-34 PykaB Pykae B-1-32 TOCT 5398-76 L=(58015) mm 2 12,94
367 |PHJ0320021-37 PykaB PykaB B-1-32 TOCT 5398-76 L=(64015) mm 2 14,29
368 |PH/10320022-45 PykaB PykaB BcacbiBatowmii 17 G-20 (SAE 100 R4) DN32 L=(80( 1 33,44
369 [(PHJ1000007-08 Pykas PykaB 100X113-0,63 FOCT 10362-76 L=(130+3) mm 1 8,92
370 |YDC0110000-01 KOJIECO 2 3302,00
371 [YBC0133000 KOJIECO 4 955,50
372 |Y2C-7-0110000 Koneco 1 3325,00
373 [VOC-7-0110000-02 |Koneco 1 3562,50
374 |YD2C-7-0602017 Pykas 26 1,62
375 |1XM09.22.102 Pemens Pemens B 1320 Lw L=435+2 mMm 12 4,17
376 |XM09.30.314 Pemenn 12 3,21




	Лист1

